# MLA EXPENSE CLAIM

#### LIVING ALLOWANCE

M.L.A.'s NAME Cliff Graydon			DA	TE PREPARED	September 8, 2017		
FOR THE	CONSTITUENCY	OF Emerson horized Temporary Residence Expenses			S	EP 1 4	2017
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE		For the month of	For the	month of	For the month of
rig e							
er for							
				\$	\$	Singal Spanish School	\$
				Temporary Resid	lence	\$	
	Aut	thorized Living Expenses					
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE		For the month of August	For the of		For the month of
8/15	Dollarwise- Dry (	Cleaning		\$26.82			
4.2							
				\$ \$26.82	\$		\$
				Temporary Living Expenses Total:	7	\$26.82	
* 1			Resid	dence Expenses Tol	al	\$	,
			Living	g Expenses Total		\$	26.82
			тот	AL		\$	26.82

\$ 722.40

\$ 722.40



## **MLA EXPENSE CLAIM**

### LIVING ALLOWANCE

M.L.A. NAM	IE Cliff Gray	don	DATE PREPARED	September 14, 2017		
FOR THE CONSTITUENCY OF  Authorized Temporary Residence Expenses		_	SE	P 1 4 2	2017	
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of	For the	month	For the month of
(101712)			<u> </u>			
						ļ
			\$	\$	Ι	\$
			Totals:		\$	
	Au	thorized Living Expenses				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of <u>August</u>	For the of	month	For the month of
8/1-5	3 meals per die	em @ 34.40	103.20			
8/6-12	5 meals per die	em @ 34.40	172.00			
8/13-19	5 meals per die	em @ 34.40	172.00			
8/20-26	5 meals per die	em @34.40	172.00			
8/27-31	3 meals per die	em @34.40	103.20			
8/8	smitty's	- Dinner	14.88			
8/10	Le Routies	- Zunch	11.57			
			74418*			
>	* Balance	remaining	\$ <u>722.40</u> Totals:	\$	\$ <del>722</del>	±40 744.18
Total Residence Expenses \$					\$	

Total Living Expenses

TOTAL EXPENSES CLAIMED

DATE PREPARED September 25, 2017

\$

194.80

Total Living Expenses

TOTAL EXPENSES CLAIMED

M.L.A. NAME

Cliff Graydon

### **MLA EXPENSE CLAIM**

### LIVING ALLOWANCE

Date (M/D)   VENDOR   DESCRIPTION OF PURCHASE   For the month of August   For the month of August   For the month of August	FOR THE C	CONSTITUENCY	_	SEP 2 5 2017			
VENDOR   DESCRIPTION OF PURCHASE   Of	Authorized Temporary Residence Expenses						
Shaw Cable		VENDOR	DESCRIPTION OF PURCHASE				
Similar Subsect   Similar Su	8/14	MB Hydro		\$40.09			
Totals: \$ 194.80    Date (MI/D)   VENDOR   DESCRIPTION OF PURCHASE   For the month of   F	8/11	Shaw Cable			\$154	1.71	
Totals: \$ 194.80    Date (MI/D)   VENDOR   DESCRIPTION OF PURCHASE   For the month of   F							
Totals: \$ 194.80    Date (MI/D)   VENDOR   DESCRIPTION OF PURCHASE   For the month of   F							
Totals: \$ 194.80    Date (MI/D)   VENDOR   DESCRIPTION OF PURCHASE   For the month of   F							
Authorized Living Expenses    Date (M/D)				\$ 40.09	\$ 15	54.71	\$
Date (M/D) VENDOR DESCRIPTION OF PURCHASE  For the month of For the month of				Totals:		\$	194.80
Date (M/D)		Au	thorized Living Expenses				
\$ \$ \$ Totals: \$		VENDOR	DESCRIPTION OF PURCHASE			month	
Totals: \$					S11 1		
Totals: \$							
Totals: \$							
Totals: \$							
Totals: \$							
Totals: \$							
Totals: \$							
Totals: \$							
Totals: \$							
		1		\$	\$		\$
				Totals:		\$	
L Total Decidence Evapaçõe L % 194 AU				Total Residence Expens	200	\$	194.80

### **MLA EXPENSE CLAIM**

### LIVING ALLOWANCE

M.L.A. NAME Cliff Graydon		DATE PREPARED October 1, 2017				
FOR THE C	ONSTITUENCY	OF Emerson	_			
	Aut	thorized Temporary Residence Expenses				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of Oct.	For the of	month	For the month of
10/1	EDISON PROP	ERTIES - October Rent	\$1,120.00			
	PA'	Y DIRECT				
	•		\$ 1,120.00	\$		\$
			Totals:		\$	1,120.00
	Au	thorized Living Expenses		T		
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of			For the month of
				,		
	•		\$	\$		\$
			Totals:		\$	

Total Residence Expenses	\$ 1,120.00
Total Living Expenses	\$
TOTAL EXPENSES CLAIMED	\$ 1,120.00